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So, welcome students. We have been discussing our Mining Machinery. We are now almost
nearing to the end of our discussions, though there are a quite a large different type of
machineries are there. But we cannot in a one particular course; it is just only to give you an

introduction.

So, today, we will be discussing about the Machinery for Underground Mine Transport. So, it
will be just an introductory class and then, we may discuss few machines in our subsequent

classes.
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Objectives:
Introduction to Underground Mine Transport Machinery

So, today, our main objective is to give you a overall view of what this underground mine
transportation system is there. Some of the things you can see over here in this figure. Try to
see that a these figure which shows there at depth, you can see the mine tubs here, which are
being connected to a rope and this rope is pulling them down, that is exactly which is quite

often it is said as an underground rope haulage.

So, in a mine transports, this method which is now almost 100 years old. This is still
continuing in many of the mines with some advanced person of it with a we have this endless
rope haulage. We will be discussing some of that in separately. Similarly, in this you can see
also a diesel look diesel engine operated, this type of arrangements for men riding system in a
mine is there, where we can have even a locomotive; underground mine locomotives are

there.



You can see here a conveyor belt in an underground mine; a conveyor belt is running over
here. Other than that, there are men riding system for transportation of men, you can see over

here how a rope haulage has been used.

Just like in your aerial ropeway, you are having it at a underground that is a suspended carrier
on which the man travels, say a schematic diagram is also shown over here. In one of the
class, we may discuss a little bit about this. This system is also there in our Indian mines as

well as many mines abroad.
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After going through this lesson you will be able to:==

* Describe different transport systems used in underground mines
* Calculate cost of transportation for various systems

Then, this is exactly here; this is a man riding system of a mine is shown in this figure. A rope

haulage is shown over here; how on the mine car, you can see here in a there is a tracks that is



why the track system that whatever the railway track same system is there in underground,

which can be used for rope haulage or it can be for the diesel locomotives.

(Refer Slide Time: 03:25)

OBJECTIVES OF MINE TRANSPORT SYSTEM

Obtaining maximum output per haulage worker employed.
Minimisation of the cost of transport per tonne per km.

Provision of transporting with overload capacity as and when necessary.
Ensuring maximum safety to the workers and machinery.

*
*
*
*

So, in this class, we will be describing as a general some of the basic understanding that is
required to study this machinery. And here, what is the main objective of a mine transport
system? Exactly objective is very clear, we need to bring man and material down to the mines
for doing operations and then, whatever the excavation work is carried out there, the minerals
which is our price there will have to be owned and evacuated from the underground to the

surface.

So, that is where exactly the system will work. But that will have to planned in such a way

that it gives maximum output per haulage worker employed. Depending on the how many



number of people who have employed, per persons, the material live it should be more, that is

what is an objective.

Then, minimization of the cost of transport; obviously, that will lead to your profit. Then,
there should not be in a transport system when you design, it anytime there could be more

demand for the material. For that purpose, we will have to have some overload capacity.

Then, the most important thing is in underground mining, you are working against the nature
and that is why there could be at any time accident may take place. So, you will have to keep
the equipment in safe condition as well as the person must not suffer an injury. So, because of

this, we keep the system to be designed. So, that it helps like that.

(Refer Slide Time: 04:59)

REQUIREMENTS OF TRANSPORTATION SYSTEMS.

Transport Requirements
Object

High speed and comfortable travel.

Men One mode of transport system between mine opening and
working face.

Minimum waiting time for getting on and off the vehicle.
Transport without unloading from stock-yard and the point

of use.

Material B L .
Minimum change of prime mover for transport.
System capable of handling large and heavy objects as
well as normal supplies.

Coal/Ore Avoid delays to face production.

Adequate capacity to handle peak production.

Minimum degradation of coal or the mined product




Now, as we can see the requirements will vary depending on the purpose. So, if the objective
for carrying man, then have to you will have to see the requirement, it should be speed should
be not that high, that it is becoming uncomfortable or it should not be that low that you take a

lot of time in going to the face for walking.

So, that is your the mode of transport between that your where is the opening, from the mine
opening to the working place where it is there, that will be the main requirement. And then,
there if you are using some men riding system, your workers there will be 300-400 workers
working in underground mine. They should not be kept on waiting that when will my turn

will come and I will be lifted to the surface.

So, that is why the that convenience that for depending on the number of persons, who are
deploying in the mines your transporting system or your man riding system will have to be
designed in such a way that you can within that is it that shift change over. When you are a
person will have to go into the mine and some person will have to come out of the mine, at
that time the type of the rush hour, the traffic will be there on the riding systems should go

smoothly.

So, what speed and what type of, how many number of such facilities will be located, that
will depend on that. Then, the material transport what is there, there is a if you are taking out
the mineral to take out from there, we will have to take up to the surface and then from the

surface, where you are stocking to take up to there, you will have to think as a whole system.

Then, your that is your the type of main prime mover that whether you are using diesel engine
or electric or you are using pneumatic power that your it should be a as far as possible a one
type of prime mover if you use, then from your operation and maintenance point of view, it

will be user.

So, then another thing is there in the mine sometimes you may have a high volume; volume is
bigger or a weight is more, the different type of objects may be coming. Sometimes, you will

may have to take a pipeline on down to the ground and that below the ground or you may take



a big pump from the surface to down. So, that means, there is a wide variation of the object to

be transported.

So, for that, the system will have to be comfortable. And then, your the loading and unloading
system for the bulk material coal or ore, iron ore or this zinc ore which is being mine from

underground.

You will have to put in such a way that there is a proper loading and unloading system is
there and the people do not have to wait for the that your carrier to come and then, to go. So,

that delay in queuing of the carrier for getting loaded or unloaded should be minimum.

So, that is a basic general understanding. It does not require a lot of your engineering skill;
but first your what you exactly want, you need to think. So, when as an engineer job, if you

are respecting yourself as an engineer, the first thing is to know that what is my requirement.

Then, we think ok, if this is the thing, then what way we can engineer this and for that, you
study that how people have been doing. That is why when you are doing an academic study,

we will study that existing system.
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CLASSIFICATION OF MINE TRANSPORT SYSTEM

* Continuous Transport System

+ Intermittent or Batch Transport System

Equipment system in different categories of mine transport.

Categoryof | Types Equipment System Conti |Guiders |*  Ore passes.
Transport fuous * Spual chutes,
Intermuttent/ | Rail " Ditect rope haulage. * Shaker conveyors.
Batches ' Main and tal rope * Vibratory Cu;we\m,
haulage. * Endless rope haulage.
' Self acting rope haulage. Pushers |* Open chain conveyors
" Locomotive haulsge. * Endless chain haulage.
' Shuitle cars * Sctew  conveyors  and
Road " Rubber tyre haulage. feeders,
" Shuttle cars Cartiers_|* Belt conveyor.
Hoist  and|*  Cage and skiphoist. Flud ~ [*  Open flumes
Cranes suspenst [* Hydsaulic transport
Others " Scraper haulge on (pressure and suction pipe).
(Stushes). * Pneumatic transport
* Cable ways. (pressure and suction pipe).

And then, we will be going for what type of new innovations can be made or what that
existing systems, how its productivity can be used, how its availability and utilization could
be made better that is what is exactly when you are going to study this. Now, there could be a
that when you are thinking of an under from underground, you will have to take the material
or you have to take the material from surface to the underground, there could be different

category.

Two categories are very prominent. You can think of as an intermittent and continuous. That
means, your transportation system will sit intermittent or batch, if the material is taken on a
container and then, it is taken over there empty and then again, you take it and bring it over

here.



So, it is exactly the material loading and unloading is not happening continuously. But in
continuous system, what is there? Your transporter is going on moving continuously; there is
no stoppage of it and your material you are pouring over there and it is getting taking over

there and then, when you are loading; at the same time, other end something is unloading.

So, loading and unloading are simultaneously going on continuously. So, this is what a
difference of intermittent and continuous. Now, for the intermittent type, now you can easily
think that you all of you have got that experience of travelling by train. It is a one stations;
you are coming from Delhi to Calcutta. You got up in Delhi; you will be get down at
Calcutta. Again, that same train will be going back and then, coming this is a intermittent

system, railway is a intermittency.

In that a batch of people will be going and that, that is number of wagons are connected. So,
that is the way that in mines also, you will be bringing up the material loaded onto a wagon
type of things which we will say as a mine car or mine tub. Taking that material over tub,
now you just like in a train, your connect them couple them one to another and they will

become a train and they will become a now batch; you take this.

Now, to take it up, we can use this rope; then you will say it is a direct rope haulage, from one
level you can take it to another level. Then, you can have a locomotive. You can this rail and

then, once this is say you are you are having a track system which can be with sometimes.

There could be shuttle car also can be put on rail, there is a your locomotive can be put on
trail. There could be endless rope haulage; direct rope haulage; main and tail rope haulage;

different type of rope haulage we will be talking about it.

Then, there could be trackless transport; that means, no rail underground, then it is called
your trackless. There the transporting machines will be rubber tyre mounted machines can go,
you have seen about the shuttle car which is working with your continuous miner in

underground mine is a transporting like that you can have a low profile dump truck.



If you go to Uranium mine, say in Jaduguda; if you go down in underground mines in that
your zinc mine in Rajasthan, you will find that there are trucks going down to the phase and
then taking the material by the truck. But those trucks are of low height, they have got a long
carrying capacity, few tons material will be brought over there and then, that is called your

low-profile dump truck or a low profile truck.

Similarly, there is another system you have seen from the underground, you can transport you
might have seen anywhere that the characteristics sickness or figure of an underground mine
is you can see a big that a headgear. And then, the cage is there and the cage this is a is the

people how they go down there.

If you have read Emile Zola’s this is novels, their mine in those days also the people were
going down into the mines with a cage. And there were of course, in some of the graphite
mines in been in India with that in the bygone days, they used to use the child labour. They
used to take on a rope and on that rope and a basket on that a small boy will be put, he will go
down and then the graphite will be mined. In that is the way, also the in the days of manual

mining people used to work.

So; that means, you can take the material on a cage or sometimes there is a another varieties
is called your skip. There is a container which will be taking in say in our copper mining in
this Mosabani and all, they used to have this skip taking out the that copper ore from your

underground mine there were a system.

So, this skip and the cage they are hoisted by a that means, from the ground through the
mineshaft, they will be having a winder; a winding engine. So, in the mine transport, this

winder and winding engines and how they will be doing safely, those are there.

Other than that, there are sometimes scraper haulage or slusher. You can just scrap the
material, bring it up to here and give it on a chute; from there the material will be going. So,

there are also cableways chutes, gadgets, many other type of systems are there.



Now, in the continuous system, basically you have got that in metal mine, you will be finding
ore passes or the chute the material is brought and then, they are just allowed to flow through
the chute it will going. So, no other machines and everything is required. It is just a porpoise

things will be going like that.

But there are continuously the material is moving in a chute. Similarly, that in a conveyor
belt, in your that conveyor could be a vibratory conveyor, it can be a chain conveyor, it can be
your this that your cable belt conveyor. There are so many different type of conveyors are

there.

The belt conveyors as a continuous system is very much used. But this endless rope haulage is

also a rope is continuously moving. And then, your tub is connected over there and it will be

going.

So, that is the carrier that is your the attractive motion that which is carrying that is
continuous, but the material is going batch by batch. So, that type of transportation systems
are there. So, then sometimes this your endless chain screw conveyor is another type of
conveyor, it is used. Just like auguring, your that material you have seen when a carpenter

make your auger, what happens?

It auger goes in and the materials comes out, now you think of that one, if you are having that
screw horizontal and keep it rotating; at one end, if you put the material, the material will be
going out in the other sides and its exactly the same principle for carrying material even
upward. You might have seen the Archimedes screw, where the water was to be taken from a

lower level to the higher level by just only making a screw to move.

So, that screw conveyor is another type of conveyor. They are used in different in particularly
in some of the processing plants and all, you have got these use of screw conveyors. Then,
another thing is there that your you can have a fluid suspension; that means, you can make the
things to flow float that is your in a slurry, you make with water and pump the water as a

slurry from that is that what that is material in water will be carried.



Sometimes, it can be in a pipe. You just make that air to suck it and then in that air, you can
give the powder, you take it and then, collect it. So, that is if your material is reacts with
water, you can make them to float in that is suspended in air and then, make through a
pipeline, this type of call your pneumatic conveying. So, there are different types of

conveying system which could be used.

(Refer Slide Time: 16:26)

Categories of underground transport system

UNDER GROUND TRANSPORT“

\

MAIN HAULAGE I GATHERING HAULAGE I SECCONDARY HAULAGE I

WINDING SHAFTHNCUNE

WORKWGFACES WHERE FﬂCES ARE

MAIN U/G LOAD\NG POINT

MAIN U/G LO!D\NG PONT MAIN U/G LOAD\NG POINT

So, basically your underground transport system could be a main haulage, a gathering haulage
and a secondary haulage. Haulage; that means, hauling taking the material from one place to
the another. Now, main haulage when your the from that if you are having an underground

wounding shaft, from that shaft you are going down.

So, basically what is there in your underground mine, you can see here suppose you will be

having a shaft like this, you may have a that is your normally a big shape will be there and



this is a structures from here, you are suspending a cage and it is going down. In the down
underground mine, there could be different level and from different level, people will be

coming and then, they can enter into this cage.

So, this these things when there is coming from that to your main winding here, then it is
coming over there; if it is that there will be a cap gear on which this case will suspend, the
door will open, the pop person will be coming out and then, from here, it will go to the that

your mine phase maybe different distance. So, these type of systems are there in a main

haulage.
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Categories of underground transport system

UNDER GROUND TRANSPORT I

\ I

Y

|MA|N HAULAGE || | GATHERING HAULAGE . | SECCONDARY HAULAGE ||

l J !

WINDING SHAFT/INCLINE
T0

WORKING FACES WHERE FACES ARE

T0 FAR FROM
MAIN U/G LOADING POINT
MAIN U/G LOADING PONT MAIN U/G LOADING POINT

But then, other is your gathering haulage, what happens? That is in your any underground
mining, basically in a bord and pillar mining, what is done? You may have a number of these

are the coal pillar. Suppose, these are number of coal pillars are there and then, we are having



this galleries and then, from here, the coal when it is cut collected over here and there could

be one main hall road, this is going to the main shaft.

So, from here, we are having this secondary haulage. From this area or in underground mine,
we say this is a district. Now, these are all coal pillar. In between, there are these are the
roadways connecting to the main road. So, this is your main haulage here, we are having the

gathering haulage.
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Categories of underground transport system
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So, there could be different type of systems could be put in underground for bringing like
that. Then, when this your in what happens? You have gone down into the surface; say for

example, if this is your in a surface you are having this is a mine open over here.



Now, when you go down here, you are coming over here from there and then, you will be
travelling into different distance and then, you are doing the mining over here and here. From

there, you will have to come down below and then, come over here.

So, there, there could be a secondary haulage. From here, it will be going and connecting to a
road, something like that exactly you are coming from your village one particular this and

then, you are going to a [FL] and from that one.

You are going to the main road and from there, you are going to the trunk road, like that. That
whole that road network system is also done in an underground and there, where you are

working in a smaller area, there you can have a secondary haulage.

So, basically what is there that the way you are having you have seen your city roads and then
city road going to a small town; from the small town, you are going to a village; from the
village, you are going to then different that [FL]. Similar ways, we will have to have a road
network, which are called your exactly you will be telling in underground mining methods,

they sat it is a gallery.

You will be having the different galleries through which, we will have to make that your air
to move and then, which way your material will have to go move. Because you will have to
take care of your road and that transportation route so that your that how the ventilated air is

going over there, that airflow can go up to the face, where the workers are working.

So, that is why in when you talk about the mine transport. We will have to know about the
mining method by which it is being done and there which type of machines will have to be

used.
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Layout of transportation system of a gently dipping seam (After Karelin, 1967).
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So, then, you can see here this another figure which can give you a total overall picture of the
main layout, that is you can see here this is what we are telling as a main shaft. From the main
shaft, it is coming and then, there is a main cross cut. It is a main gate, you can see here this is

a haulage hoist is there; that means, a haulage hoist means a rope drum is there.

A rope will be going and connecting from these ones, it will be bringing over here. So, this is
another haulage hoist, there will be a tailgate and there is a main gate. Similarly, this is a
working phase from here, these are all the your that intermediate gate and then, their work is
coming. This is the main haulage; one hoist is here, it will be bringing out all the tub up to

here.

From there, the tubs or carriers, it will be brought by manually, it will be pushed over here to

a cage and then, it will be lifted over here. So, that is where how exactly the underground



mine; transport is done. So, so far you have now learned that a in a mine transport system, we
are wherever the phase; that means, where exactly we are loosening the rock mask to be and

that getting that bulk material.

From that bulk material, you will have to have a means to load it to a transporting unit that
transporting unit will have to be hauled over a trap or by a tire mounted machines. And then,
those small that is your car on which the material is collected are brought near to the shaft

bottom.

Shaft bottom means that in the in that shaft bottom portion, you will have to make a proper
layout so that this strange of mine cars which are coming over there. They can rest and then,
one by one, they can be pushed into the case and then, case can lift. So, this is what is a mine

transport system as such.
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Factors determining the layout of the transportation system

Production target.

Geo-technical conditions of the mine, e.g. natre of formation (flat/semi-
steep/steep), depth, number of seams, nature of partings and thickness, tectonics
(fold/faults/dyke), seam thickness, roof and floor conditions) i

Length of transportation

Variation of route during the life of the mine.

Road characteristics like curvature and gradients.

Working conditions like prevailing amount of dust, gas, necessity for shifting and
its frequency, etc. -

Transportation economics.

Technical factors e.g. system of mining (B&P, R &P, LW, sub level caving,
horizontal slicing etc.), gradient (3° for locomotive, 18° for conveyor), direction of
transport, ventilation,

Expected flexibility

* Safety.

Personal choice.

* % % %



Now, what type of machines will have to go for that? When we say for that this how before
going to the machine, you must know that what are the factors that will determine the layout
and the transportations layout of the transportation system? As you can easily think, it is just
only a matter of your practical thinking that is your production target is definitely, your if you
are going to make a big 5 million tonne mines or you are going to have a 0.5 million tonne of

mine, depending on that, the layout will have to be the equipment will have to be selected.

Geo-technical conditions of the mine is very very important. As a mining engineers, you
know that how your coal or the ore is there whether it is you are working on a lands of thin or
you are working on a seam as a flat deposits like a cold seam. Then, it could be a steep incline

seam; it could be a very thick; it could be very thin.

So, depending on that, the geo mining conditions and then, also that whether this between the
seam, there is a parting. That means, whether there are a lot of the inter burden is there or not,

then what are the thickness. And then if there is any geological disturbance.

Because if there is a fault or a fold, these are the terminology you know as a mining engineer
that will have to be taken into consideration in designing the system for there. Similarly, that
what is the length of transportations. What are the variation of route during the life of that
mine because the mine is expanding and going to different districts. Then, from there, you

will have to see how the distance will be changing.

Whether you are doing if you are doing a long wall mining; whether you are doing by
returning method or in an a advancing method, depending on that the transportation systems
will be different. In some cases, you will have to first do the wall capital investment to do a
long that conveyor belt and then, you will be going coming down and cutting that or reducing

the length of the conveyor belt.

If in an advancing method, you will have to have the go on increasing adding and doing a lot

of vulcanizing during your production phase. So, there are different way how we will have to



select it. Then, how many curves of the road, it is coming from the in underground also, do

you have to have a lot of turns and round around.

Then, what is the working conditions there? In underground, definitely it will be a very dusty;
but in that underground mine, where you are working in some of the mines a lot of water will
be coming; the other day when I was going to that in Gumgaon that in Nagpur, manganese ore
mines, miles underground mine. There a huge water you can see that just like drop rains, it is

coming there is a high water percolation is coming.

Similarly, that means, there the transportation system will have to take care of that. Similarly,
your most important thing is the transportation economics because dust, gas your how many
times, it will be shifting and all these things; they will be affecting your economics; whether

other things need to be arranged along with your transporting.

Then, technical factors; whether it is a bord and pillar mining or room and pillar mining as
they say or longwall mining; whether it is a sub level caving or a horizontal slicing or this

depending on that what gradient to use your locomotive, you requires a flat gradient.

If you are going to conveyor up to an 18 degree, you can go sometimes. Then, in which
directions, you will be doing along the ventilated air or against the ventilated air. Those are
the technical matters you will have to see along which what will be the capacity, how much
will be the exactly rate of travelling and those items will be designed and then, that

equipment will be selected.

Similarly, whether you need to have a flexibility; that is, it during your life of the mine you
will be going on changing the technology for doing or you have done 50 years ago that rope
haulage was there and it is still continuing because we do not think of any flexibility ok, our

rigid this is there [FL] if you want to do it like that, you do it.

So, that is most important is safety; [FL] safely [FL]. So, that is why your safety is very very
important and of course, the personnel choice. If you are a private mine owner you want that

in your mine, it will have to be the state of the art technology; you can do it very good. But if



you are going to ok, I am making money, it is alright, workers [FL] and then, it will be done

like that.
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Cost of Transportation, C ( Rs/te)

C=C+CH+C+ C,

C; Cost of amortization
C;: Cost of wages

C;: Cost of electric &/or Diesel power used
C,: Cost of materials

Gy = Zg%klk Number of Equipment
i

Number of equipment: |
Cost of it" equipment : §;
Life of ith equipment: t;
ky =coefficient which into account the cost of transporting and installing the equipment = 1.25-1.3
k;, =coefficient which into account the cost of repairs= 1.5-1.6

So, then you will have to get this cost of transportation, you can find out. This cost of
transportations can be calculated in terms of four factors; that is your cost of amortisation,
cost of wages, cost of electric and diesel power and cost of materials. You can easily find out

this a cost of amortisation.

It will be depending on what is the cost of i-th equipment and then, life of that i-th equipment
and then, how many what is the coefficient into account of the cost transporting that to the
installing equipment, that is your the that cost of transportation and installing the equipment,
there is a factor and also with the how much repairing costs will be coming and then, what is

the total number of equipment for i-th number, then when you will be this is your this number



of equipment is exactly the i which is written over here. This is, it is. Do not take into it. The

C 1 is this formula.
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B
Annual Wage Cost, C2

L M: Wage rate, Rs
G =k Z Mz N: number of categories of workers
1 2: number of man-shifts of each category required
ks: coefficient which takes into account the cost of social benefit

Annual Electricity Cost, C,_

T Cp: Costof 1kWinX
G= (CEZ N—+ ,\]l.c') ky m : number of equipment consuming
L elelctric power
N : Power consumed by each equipment

1, efficiency of the transmission network and transformer iy effciency of the mtor

ty: hours of wok of each equipment per year
N;:installed power of transformer in KVA
C’:annual royaltyper KVA of installed power of the transformer in X

k,: coefficeient which takes into account variation in the power cost depending on the power
factor cosfy

So, you are you are considering this is your cost component, similarly you may have this other
cost also, you can calculate it out by these annual wage costs. You can find out the annual
wage cost by this formula depending on what is the wage rate and how many number of
categories of workers are there; how many workers are there. And then your if you are to give

a social benefit, those things you can find out.

Sometimes, you can formulate that formula by whatever the condition existing. Only you will
have to take it. The annual electricity cost that also for each and every component that is what

is your exactly the tariff of that particular area and that is your the rate that cost per kilowatt.



If that is known that C, then that will have to be multiplied by the that what is your total

install power and what is the transformer. By this way, you can do a calculations.

Now, this equation is a giving as a generic equation, but you can whenever you go to any
practical training or any visit of a mines, there you can find out in which way they are doing
and or you can start doing it. Why I am doing it over here? That is, your technology or
innovations will be coming, it is a it will be demanded when you know that it is just exactly

there is a wastage of money.

You may find out that your electricity costs will be much more than when there you can save
by putting a change in the system either by equipment or by the way of working over here.
Similarly, you can sometimes if your cost factor is coming in ways, you can think of how

those people can be they deployed so that with the per person the productions come more.
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. Includes the cost of consumables (10-15% of power cost), cost of spare parts
Cost of Materials, Cq (3-5% of cost of equipment) and the cost of tools and overall workers)

i Z,,: number of workers on the muster roll
- L W
b= Lm0IE6 35008 G 0085 £y Sif X: cost of tools and overalls for workers X per worker

Cost of transportation per tonne of mineral transported , Cy: Cy=

C=C+G+C+C,

‘<§>|ﬁ

5 Ay Annual capacity of haulage

A performance indicator in ¥/te-km, C;’

G
Coi= L L: length of haulage in km
y



That is what also is a better that is why in a technology you will always have to get this. Then,
the cost of material this is exactly depending on that is your how many number of workers are
there on your roll and then, how much material exactly you are transporting. So, this whole

thing once you know the total cost.

Then you can find out what is your performance indicator as a KPI that is key personality of
that indicator will be your how much rupee per ton kilometre of your transport. Once you find
out that, you can find out, you can compare; [FL]. Then you can consider a technology

evaluation technology assessment and then, you will be going to notice.

(Refer Slide Time: 30:53)

Capacity of Transport System, Q

q: amount of load transported per m length of the continuous transporter kg/m
3600 v: speed of transportation of load, m/s
5 mqu =36qv t/hy: specific weight of the load, t/m?
A: maximum possible area of cross section of load, m?
¢: fill factor( ratio of actual to the maximum possible cross-sectional area of load

Q
Q = 10004y kg/m

Q =3600 Avyp t/h

IFthe load is in vessels each of i litres spaced ‘a’ m apart (elevators, endless rope
haulage, aerial ropeways) the value of q is given as:

=h
UeHT I/m
Q=3.s'aﬁy¢ th

The capacity of transport system of intermittent type : Q= nmG

n: number of vessel moving simultaneously (e.g. trucks, scrapers)
m: number of round trips per hour
G: capacity of the vessel, te

So, coming to this that capacity of the transportation system is very important parameter, you
will have to determine this inconvertible calculations, we have said that compare capacity is a

volumetric capacity or in a ton capacity, when you multiply by the density. AV gamma; A



you know, this is that exactly the maximum possible area of cross section of the material on

the conveyor belt, we discussed that one.

Then, you can find out that is your if the load on a particular vessel or the carrier in a mine
tub or car, if it is a you are a i 1 litres and if these two are spaced at a distance of A, then you
can find out what will be this capacity coming in terms of their spacing over here. So, this is
just only a common sense equations, you can put and then you can calculate whether it is an
elevator; whether it is in rope haulage or whether it is in a real rope way, that same formula

can be used.
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3600 '
L L: Length of haul , m

m=
L _
v, Vg v;.: speed of loaded vessel, m/s
v: speed of empty vessel, m/s
0: total time spent in loading and unloading
_ 3600nG
Q — L, L t/h
—+—+0
VL YE —
Power Required for Transport Equip (Ng)

Let W, : tractive effort kg i.e. the total force required to overcome the resistance to

motion, depends on the total weight of the vessel and load (G+G,) and coefficient to

resistance to motion

v: speed of the load, m/s N, = Wr
102

n:ef ficiency of drive gear

N efficiency of the motor

Motor Power required, N

So, once you start doing this generic things, then you can find out that how your this capacity
will be depending on your length of hole and then, your what is the speed of the loaded vessel

is going and when the speed at that empty vessel is coming. And then, your let a load empty



vessel to be connected to the return tabling unit or the loaded will material will have to be

connected to the rope that, that exactly the time which is spent that will also affect your

productivity.

So, your if every unit whatever you are having, if this is your the depending on the total

number of units and how much they are carrying, you can find out this calculation.
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Rope Haulage System

Features of rope haulage systems

The system is labour intensive

Operate safely and economically where other systems fail
Easy for speed control

Can be operated by less skill persons

*
*
*
*
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Rope Haulage Components

1. Cars (Single or in sets) and Couplings
2. Rail Track System
3. Wire ropes, Rope Clips and Rope Capels
4. Haulage engines
: Electric Drive
Control Equipment System
Gears

Surge Wheel
Haulage Brakes -
Drums

* % % ® ® %

So, these type of systems are there and in the mine, you will be having this rope haulage
system which is very widely used and this system is a very labour intensive, a lot of people
are used; but in a rope haulage system, you will find there is a car. There is a rail track, there
is wire rope and there is a haulage engine which is a very basic simple is a engine with
electric drive and control equipment gears, surge wheel, haulage bridge and drum. We will

discuss about these units how they will be there.
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Classification of Rope Haulage

SI. | Category Types
No.
I. |Single group|* Main Rope
of cars Tail rope
Main and Tail Rope
Reversible endless

2. |Two group of
cars

Balance main Rope
Balanced tail rope

Balanced reversible endless
Endless

x| * * x| * * * =*

3. |Numerous
cars

4. |Drivedrum  |*  Single drum
Double drum

*

And then, how different type of haulage are there that is your main rope haulage, tail rope
haulage, main and tail rope haulage and reversible endless haulage. Now, there could be a
balanced rope, there is a balanced tail rope and balanced reversible rope haulage and there
could be a number of car can be connected on an endless and that can be driven by a single
drum or double drum like that is there. So, you can read any mining engineering handbook,

you will find this is the system over there.
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Main /Direct Rope Haulage o

Single Orum

Double Drum

Application

This system is used on gradients sufficient to pull the empty

cars and the single rope down the incline. Power is required )

only to raise the loaded cars. Minimum gradient in good

condition s 1in 25. For bad road conditions this is 1 in 10. N
MDDD—-—

et A
R ‘

[
Direct or Main Rope Haulage.

So, in a direct rope haulage, this one drum, it is carrying. This is a trait number of cars are
drawn over here and this is way how a direct haulage work. This form a single drum, you are

just carrying it up. If you put a double drum, your empties are going down and as your loaded

are coming up or the vice versa, you can make arrangements with this.
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Features

The common features of the direct rope haulage are:

1. Rope is anchored to a drum and wound by its rotation. The haulage engine is
mounted on the centre line of the track at the top of an inclined roadway. Power
to the rope drum is supplied from an induction motor. The empty cars are
lowered by gravity. Therefore, the drum shaft is provided with jaw clutch for
disengaging from engine.

2 The speed of hauling is generally 8-17kmhr'.

5. Brakes are essential to control the rate of return of the descending rope. Brakes
are fitted to the sides of the drum chucks or alternately to the high speed drive
shaft.

4. Asingle track is required..
5. The rope is carried on rollers, set at appropriate intervals. b

6. Cars are manually coupled and uncoupled from the rope.
Average speed of hauling 8-12 km/hr. Maximum speed 18 knv/hr.

So, you will study about this main common features that is your how the rope will have to be
anchored on a drum and the other side, it will be there with the cars. And that will be moving

over a track and that speed will be about 8 to 12 kilometre per hour.
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Types
1. Single Drum
2. Double drum

Double drum direct rope haulage is a balance system. In this
system two drums are mounted on a single shaft. One drum
winds up a train of loaded tubs while the other lowers the empty
train to the pit. The weight of the tubsTand ropes are balanced
and the unbalanced load for the haulage engine is generally the
weight of the material hauled.

The peak power consumption in this system is lower than the
single rope direct haulage. Moreover, braking is also easier in
this case. The production rate is also twice that of the single
drum haulage. However, this system requires wider haulage
road.

So, you will have to have a break arrangements and then, how on the track will be laid and
what are the different safety devices will be there, that will have to study and then, as I have
said already in the diagram. It could be by with one drum or double drum depending on that

we can have a balanced or unbalanced systems.
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Disadvantages ,
. The power of the engine is large for a given output, This is because:
. Speed is high

. Tubs are unbalanced

A W o —

. High acceleration offering higher peak loads due to drum gearing and rolling stock
inerti

5. Heavy breaking is required when lowering the empty train. This increases the wear
rate of brakes. Without smooth braking the rope may be damaged or broken.

6. With heavy trains of large cars the camponents of the system may become heavier
and larger. This may present operating difficulties, especially at the transfer from full
to empty train.

7. Haulage engine takes more space than endless rope haulage.
8. Journey length is limited by the lap of the drum.
9. This system is not suitable for mild inclination of the road ways.

10. The chances of derailment is higher.

So, there are some advantages as it is very simple, it can be easily installed and then, I can be
worked way unskilled people also. But the disadvantage is there that is exactly the power of
the engine is large for a given output. This is because of the speed is high; tubs are
unbalanced and then, the high acceleration offering, high peak loads due to the drum gearing

and rolling stock of inertia. So, these are the some of the advantages and disadvantages you

will find.
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Hutag Ergme

Terminal Arrangement {

Shunt-Back Landing System

[n this system the full train is drawn over a crossing. When all
the tubs are above the crossing they are lowered back and are
diverted by the crossing into a siding at an angle to the main
road. The rope is then transferred to the empty train which is on
a parallel track in the siding. This is drawn-above the crossing
and then gravitates back down the main road. As the empty train Shunt back landing system.
is first hauled up the shunt-back-inclines it ensures that all tubs
are coupled before the train descends the main road. When the
empty train comes to the lower crossing and allowed to take a
position parallel to the full tubs, The rope is then detaclied from
the empty train and connected to the full train. The full train is
then hauled.

Now, how they are arranged in an underground mine, we will be discussing rope haulage in

our next discussions.
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Conclusion

* Basic transportation system in underground minines are
introduced. ‘

Learning Activities:

But what is there as a I have introduced here, the basic underground mine transport system.
We will be discussing the machine spot a part and there what are the basic mechanical
engineering is involved and what is the basic electrical engineering is to be known, that will

be just simply highlight in our upcoming classes.
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+ Mine Transport by N. T. Karelin (Chapter X)
*  https://www.911metallurgist.com/mining-transportation-haulage-systems,

+ Development of an Underground Hzulage System Evaluation Tool for Feasibility Studies M. Dammers1 & L. Barnewold2 & A.
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But as a learning activity please make a note on that is a what are the different type of
underground mine transport system. Please prepare a general knowledge type of presentations

by yourself. And for that, there are a number of resource materials are there.

Please read; N. T. Karelin and number of websites, it is available; references are given. And
then, you start doing some activity for doing a presentations of different type of underground
transports machinery, machinery for underground mine transports and we will be discussing

one of this equipment in our coming to three classes.

Thank you very much.



